algall) 3 palaall

This course gives an introduction to two
linguistic fields that deal with “meaning”

el e Slalay G ad Crllas e dadia ) j8al) 134

Semantics, i.e., the study of the conventional

literal meaning,

¢ s uliil) 2l sixal) du) j3 A g (N

and Pragmatics, i.e., the study of the

interactional intended meaning.

Agalall oWl a3 Ry el glail) g

Semantics focused more on:

The conventional literal meaning,

The interactional intended meaning

)1) § psla




Semantics vs. Pragmatics

G g Jalha iy al)

clalsl) laa Al 3 JLAY) AV ¢ Alal) = AN

Both Semantics and Pragmatics are concerned
with people’s ability to use language

meaningfully.

=z

A3l aladia) o (i) 5 jahy Jadi 3 il ghail) g Al (ha S

_"’-.W.A 33 CS\B.LA \93 :'~
While semantics is mainly concerned with a

speaker’s competence to use the language

(i.e., to recognize what the speaker is referring



to; to “fill in’ information that the speaker takes

for granted and doesn’t bother to say.)

Cra dadatial) ) jdig e Le agd il glail) aua) ga AlLia) ¢

Said by a beggar who has not eaten all day.

gy 430 Mad dualy ) ray ca gl J) gl IS o J guiia Ld gy 8
Said by a child who hopes to put off going to
bed

laila (S5 ol Ol g chual ) 4l 2 5a Sl Tanald Jika Lt g8, o




The 3 events obviously have something in

is mainly concerned with a speaker’s competence
to use the language system.
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The chief focus of is a person’s ability to
derive meanings from specific kinds of speech situations.




i

The chief focus of pragmatics is a person’s ability to
from specific kinds of speech situations.

derive

i

The chief focus of pragmatics is a person’s ability to

"To recognize what the speaker is referring to",
is an example for:

"To ‘fill in’ information that the speaker takes for granted

and doesn’t bother to say", is an example of:
Pragmatics.

D o5 Al Aaal) 353 )

Utterance vs. Sentence



) Jolie (b (8l

is an event that happens just once.



An utterance is .

is a construction of words in

a particular meaningful sequence.

A sentence is o

The meaning of a sentence is determined by the meanings

of:

The meaning of an utterance is the meaning of:

How can you determine the meaning of an utterance,

such as "I’'m hungry"?




L o5 Al Aaal) aga )

Implicature

Implicature:
Uadl) da Uil

An additional meaning; a bridge constructed b
the hearer to relate one utterance to some
previous utterance (unconsciously.)

Js oy ) pisal) Jb (e (s Juag ABla) s Gy ¢l
9 b (b AT J5 La,

1k

(1)

Barbara: How did you do on the examination?
Adam: | think I’ll just drop this course.

€ LAY B culad 13la 1)

Suadl) 13a c,wuj.u g:\ Adie | :‘a.ﬂ_
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(2)



Jim: Would you like to go shopping tomorrow

Implicature.

A bridge constructed by the hearer to relate one utterance
to some previous utterance (unconsciously.) is:

unconsciously is known as:




Prosody: A spoken utterance consists of more
than just words.

Ga S| Gacaly (g ghaia J 58 1oa g all A4S o cglall) o) (gl

In speech, meanings are communicated not

only by what is said but also by how it is said.

) e Sl JUBy Le e Jakd Gl Adal o (laal) (gaal)
M2 J& A
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For example,

A: Has the Winston Street bus come yet?

.
«
%
.
z.
23
-
24

B: Sorry. | didn’t understand. What did you say?

-

Selh 13l agdl al i

C: I’m afraid Fred didn’t like the remark | made.

Al oA i) b jh ddin Y O A

D: Oh? What did you say?

eatd )ala $o gl



E: Some of my partners said they wouldn’t

accept these terms.
g i) 03¢ 1 sbiy o) higou agily JB (S 5
F: And you? What did you say?

Ceuld il Selic \dlag

G: You’re misquoting me. | didn’t say anything

like that.
1) 13 e L J8) a1 (4d8] o LadIS e culiti) (o cudS

H: Oh? What did you say?

ecatd ) ila $o

L 5 alSEL a8l o )




Non-verbal communication:
| s ual g3l

Non-verbal communication:;

There are some ways of using the voice
including e.g., laughing, giggling, and crying
that are vocal but not verbal. These are called
paralanguag




il 4laY) JLEAYG b 1) Jlallgy:

Nodding

Paralanguage can be found when the speaker is:

being vocal but not verbal.

When a speaker is being vocal but not verbal; that is known as:

Paralanqguage.

Which of the followings has tones that would possibly change
the interpretation of a spoken message?

rosody.

IﬁEI Iiil '

, possibly create an effect on the interpretation of
a spoken message.

Gestures

Consider these visual signs:






The palm of one hand is brought up and slaps
smartly against the forehead.

Slapping your forehead with the palm of your hand is
a visual sign that could be equi valent to saying:




L (5 AlSiL a8l o )

Semantic Relations Among words

cilalkl) ¢ AANVAY cABMall

Semantic Relations Among words

clalsl) oy AuYal) cABdial)
In everyday talk, we frequently give the

meanings of words, not in terms of their
component features, but in terms of their

relationships.

&D;U,\u*dcﬂmam))ﬁad&igjghﬂ c‘,ﬂj,.\.“u:.'\géa
e e Pl (Rl o ) Al s

the meaning of “shallow” is the opposite of

“deep,”

the word “conceal” is the same as “hide,”




and “tulip” is a kind of “flower.”

Examples of the lexical relations types are:

A Aaazal) clBMal) £ 53 o ALial

Synonymy,

g

C.
E:

Antonymy,
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Hyponymy,

e
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Homophony,

BYEEN

—

Homonymy,

—

Al &k



meanings, which are often, but not always,
interchangeable in sentences.

outh/adolescent,



There is no “total sameness.” One word could

be appropriate in a sentence, but its synonym
ould be odd:

O dlay b daidlae dalS Glllin (985 28 U JhLa clllia

Jlia;

Cathy had only one answer correct on the test.

Laay) A dasaia daal g Al Lot S,

Jaa Jad dalS aad ol Ly i JUall 3 Answer

Synonyms differ in formality:

A8 Luall B Calids cildy) jiall;

My father purchased a large automobile vs. my
dad bought a big car.

B S Bk () (5SS

e CilalS d8luay (S8 dnall Gudl (JUal) 12 A




"My father purchased a large automobile" I can change

the sentence into "My dad bought a big car" if I want to sound:

less formal.
Antonyms

Two forms with opposite meanings are called

uick/slow,

_. Ay
Sy
=y J
=
o e
S

o
<
<
O tl
c
)
Q

R4

L
f
T

live/dead,

= : Q

rue/false.



Gradable antonyms can be used in comparative
construction,

LAY cas) 5 A addiiad o Sy gz il ALY ciliial)

bigger than/smaller than.

The negative of one member of the pair does

not imply the other:

AY) S skl o atieas Y 530 #13a) aal i

uSe 98 3 gualal) dral) o)) day ¥ 13a dals AL Ledie Ay

He is not old does not imply He is young.

i

He is not dead means He is alive.
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Reversives mean not negative but to do the

uSal) Jas i S ¢ Al ad Y claslaial
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ie/untie,
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ack/unpack,

%‘
L]
2
—
-»

engthen/shorten,
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ress/undress.
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Identifying the pair of non-gradable antonyms
among the following:

male and female

LA L AT ) e

dead and alive

Reverise is one type of antonym, which among
the following example is reverise:

pack and unpack
) b AT ) s

dress and undress

Hyponymy
& oiiadl oY) 9 ¢ gadial) )



means the meaning of form is included in the
meaning of another,

Jad¥) s S A paia ol A gadia 095 O (1Say Jald plandy) ot

E.g.,



Jual) Jasns e

cut, punch, shoot, and stab are co-hyponyms of
the superordinate “injure”

MMQW\LGAJSGA‘J """\.@JS%'}.%..) ch\‘}‘hﬁcaﬁg céhﬁg
" AN A jal) 53 2o Jadl) 8 A jaiay”,

What is the semantic / lexical relation between tulip and flower?

Hyponymy

What is the semantic / lexical relation between banana and fruit?

Hyponymy

aa) 9 J) g @B g8 Agijadl b ¢

hen two or more different written forms have
the same pronunciation, they are homophones,

dlh.u éhﬂ\uumm‘gﬂiuwﬁ\wﬂlau@du‘gﬁum




meat/meet,
lour/flower,
ail/pale,

Sew/so,

see/sea,

are/bear.

IﬁEI Iii| |||| |||| iii| “‘i

They are more different written forms that have
the same pronunciation, what are they?

Homophones

What is the semantic / lexical relation between meet and meat?

Homophony




E.g.,

bank (of ariver) — bank (financial institute),

-

2 i g cAgilal) Apall (dad )

bat (flying creature) — bat (used in sport),

bat Lg.ﬁ\ ‘_U.\A.d‘ u.ﬂa Kt 3‘ (Al juday Lg.ﬂ\ B olaal) had

The word bank (the side of a river) and



bank (the financial institute) are recognized as:
Homonymy

run (person does, water does, color does).

Run asil oligd ol slall s ol (s add fad



The head of the company needs a new secretary
what does this sentence contain?

Polysemy

"Iraqi head seeks arms" what does this newpapers
headline contain?

How do you distinguish between homonym

Via dictionary.
(o galal) @Hﬁu v

Date (a point in time)



Date (fleshy fruit)

Al

So they are homonyms.

Date (on a letter)

L“‘Ju'b&.‘)u ix

Date (an appointment)
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Semantic Features

AN Cildaal gal)

One helpful approach to study meaning could

be by the means of accounting for the
“oddness” we experience when we read
sentences:

The hamburger (NP) ate (V) the boy (NP).

Al 381 g yaalgd)

The table (NP) listens (V) to the radio (NP).




The oddness of these sentences does not
derive from their syntactic structure. According

to the syntactic rules, we have well-formed

Lty of LS 5 08 aady ol Alaad) oda & 353 f 4yl ad)
Ll W8 Alaad) caS il 4y sal) ac ) gAY Tad gd | g gadl) cuo) 4AY)

These sentences are syntactically good, but
semantically odd.

cdasaa Al duus i) 4y gadl) daas ) g8l dalil) (e Jaadl oda

A £ 5 A0 Lgud aall el (e AN Aalil) e Led
The hamburger ate the boy.
Al 385 g yaalgd)

Since the sentence The boy ate the hamburger
IS acceptable.

Adgla g paalgd g8 algl Adaa ¢ Cps (A

What’s the problem?




The components of the noun hamburger must
be significantly different from those of the noun

boy, so only one can be used as the subject of

the verb ate.

dﬁﬁSeMQ\MW‘S‘ h\hﬁuiml..u c.ﬂ\g?u‘gégﬂ‘

The kind of noun that can be the subject of the

verb ate must denote an entity that is capable of

Jas o) g JS1 Jadll Beld 585 0 L (fSay (AN laldll £
L JSY) o Bl Agal Lt i

e need to determine the crucial semantic
features that any noun must have in order to be
used as the subject of the verb ate.

) o) Lhadaly o qua A Aalgd) cYal madle paad ) zliad
. JS1 Jadll Je WS aadiiay off Jal ¢

Such an element may be as general as “animate

G JSL O A8 Agal 0985 O g 1 paiad) f sl )3a
La e 5 ULS g8 o



e can then use this idea to describe part of the

meaning of words as either having (+) or no
having (=) that particular feature.

0, the feature that the noun boy has is

“+animate”

+animate A Ay awd) Lgslia Al ddal) o1b 1358

and the feature that the noun hamburger has is
“=animate”

—animate s sl aul) Lgslay Al ddal) g

What is your opinion about this sentence: "The table ate the
sandwich."?

It is syntactically good but semantically odd.

What is your opinion about this sentence: "My horse studies
history."?

It is syntactically good but semantically




Componenntial Analysis

The term componenntial analysis is a semantic

approach which assumes that word meaning

can be described in terms of distinct

components, many of which are binary.

ik T3 g 3 s ylal) gf Sl fal rellanae
uéuﬂb cAl8tal) &UJSAS‘U.‘S ;UQ&AJOSA.A'M‘U:&AO.

Components are qualities embedded in any

, like the ones seen in dictiona

8 L) 5 Al Jia dalS ] ra B Aadaal) clial) 4 @l gSal

Dog refers to a mammal. Also, it refers to
domesticated and carnivore.



29 J90g il Gl g A gady ga iy bl Y jpdy il

AL clial) Jiiad LiSay 48y jhal) o3¢ g
Dog [+mammal] [+domesticated] [+ carnivore]

asadl) COIST (ha (ABLY) ) gaad) Cpa () (e <)

Wolf [+mammal] [- domesticated] [+ carnivore]

asall) ST (e (AY) il gaad) (pa (ed (i) Cpa e quidl)

One typical example assumes the features

ANIMATE, HUMAN, MALE and ADULT.

S3 (bad) oo e ciliial ga i 85 AN duad gall) ABGY) s

That is known as componential analysis. This
approach is used to analyze the meaning of
certain types of nouns in terms of semantic

adiiioy ggiall 138 S Al o A gSil Julatiily G ag e ga 1A




| |Table |Horse [Boy | Man | Girl | Woman

Animate] - | + [+ ]+ ]+ ] + |
Human | - | - f+]+]+] + |
Femate | - | - [=-f- |+] +
il | s | = [efm[[a]] o

Jalail) gf (oS Salasl) (AVal) ciliual) gl J gaad) 138 (4
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What are the semantic features required for the subject of this
sentence: " is travelling with his wife to London this week."

[+Animate, +Human, -Female, +Adult]

Hitt




What are the semantic features required for the subject of this
sentence: " is going to marry Sarah this Friday."

[+Animate, +Human, -Female, +Adult]

Hitt
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Semantic/Thematic Roles

af gal) [ YA I gaY)

Semantic/Thematic Roles

al gall [ 43NAN ) g2y

The “roles” words fulfill within the situation

described by a sentence.

Adany 48 gua gall (c¥ladl) il gal) oo (3825 ™) gaY1" s
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The boy kicked the ball



The verb describes an action (kick).

O aaa cieay Jadl)

The noun phrases (NP) in the sentence describe
the roles of entities, such as people and things,
involved in the action.

e Lud¥ g Gl Jia (BT ) 9ol chual dlaadl 8 duac) < jlal)
Cdaaal) B daaial)

e can identify a small number of semantic
roles (also called “thematic roles”) for these

noun phrases.

LAl ) o) e QB ane o () L

Aa) @l jlad) odgd (Ll gall f 9a¥) Liad
Agent and theme

294l g Jalad)

o

The boy kicked the ball

5,81 al gl Js

One role is taken by NP The boy as “the entity
that performs the action,” known as the agent.

Lf‘m }4.'\:1\ Ji O\,,\SS\ el "4333\" Z\,.\MY\ SJL.\aJL) PR RIA| JJAS‘



Another role is taken by the ball as “the entity

The theme can also be an entity (The ball) that is
simply being described (i.e. not performing
action), as in The ball was red.

Adua g aly gA) "3 K" yaic QQSQJSQQT‘QS@&JJA‘JA\
g yaa b <l :Wﬂgédw\dﬂéﬁdﬂgeﬂj\ ¢35 ¥ Al dray,

Agents and themes are the most common
semantic roles.

o a1 AN ) 5a) (A gl sall g Jal g2

Although agents are typically human (The boy),

they can also be non-human entities that cause

actions, as in a natural force (The wind),

machine (A car), or a creature (The dog), all of
hich affect the ball as theme.

V) o(Aild) oAy pda) ABBle o485 La Bale Jalgadl oS (e a8 ) o
(dima ilaaly o g8 Agilead) pualie o) cilils 0985 Y ¢ Led Sy )
Cild glial) o ¢(B_lamall) SN (L) Angidal) o 88 2 Jlad) Jia
odp Uil 8 9 i) £ pulagall o G O (S Lgda S ¢(lsl)
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The boy kicked the ball.
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he wind blew the ball away.
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A car ran over the ball.

B laed) Canadd
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he dog caught the ball.
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"Sally saw a poor man sitting on the sidewalk."
what is the thematic role for the name phrase
"a poor man" in the sentence?

ThemedlsAgent 2 4x ja



Instrument and experiencer

If an agent uses another entity in order to
perform an action, that other entity fills the role

Ol Q3 (la Gaaa o1a) Jal g ) AT juaie o) LS Jule aadiia ¢
1Y) o ‘@335 AY) yaiall
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The boy cut the rope with a razor

o sally Jial) Alg)) b

1Y) oA LA (i gal)

[+ 23

arazor = instrument

He drew the picture with a piece of chalk

a piece of chalk = instrument

hen a noun phrase is used to designate an
entity as the person who has a feeling,




perception or state, it fills the semantic role of
experiencer.

VY am Lia 4dld cdima Alla gf ol 3] ¢ o Liia dgal (g3

If we see, know or enjoy something, we’re not
really performing an action (hence we are not
agents). We are in the role of experiencer.

A8l B la o Matiaey o) Ciay (g ™ O Sl cliaY
Mw\o&gé_(ymwumgimgj)w&dﬁeﬂ‘iﬁ
ol agde glhad Al ) gall

In the sentence: (( The boy feels sad )), the
experiencer (the boy) is the only semantic role.

GJYAS‘JJAS‘JAJ Algll oA gl (oAl Mgl edu" dlaa 8

"Mary saw the cat over the tree", what is
the thematic role for the noun phrase "Mary"?




Experiencer

Which of the following sentences has
the thematic role "Instrument"?

The boy cut the rope with a razor.

Experiencer.

"Sally saw a poor man sitting on the sidewalk.", what is
the thematic role for the noun phrase "Sally" n the sentence?




"Sally saw a poor man sitting on the sidewalk."

what is the thematic role for the noun phrase
"the sidewalk" in the sentence?

"On her way to work", what is the thematic role for
the noun phrase "work" in the sentence?

"On her way to school", what is the thematic role for
the noun phrase "school" in the sentence?

Latifah saw a fly on the wall.

Latifah: experiencer
a fly: theme

on the wall: location




Latifah borrowed a magazine from Ahmed.

Latifah: agent
a magazine: theme

rom Ahmed: source

H =—h
H

She squashed the fly with the magazine.

n

he: agent

he fly: theme

~t+

ith the magazine: instrument

|74

9S:
She handed the magazine back to Ahmed.

2

he: agent

I

he magazine: theme

~+

o Ahmed: goal

“Ooh, thanks,” said Ahmed.

Ahmed: agent



"Mary saw the cat over the tree" what is the thematic role

for the noun phrase "the tree"?

"Mary saw the cat over the tree", what is the thematic role
for the noun phrase "the cat"?




Experiencer: the entity that has a feeling,
perception, or state

T dy ¢y odl) GISl) g2 1l

This character role can be defined as
"The entity undergoing an action or movement."

“w .
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Prototypes
dad galll J g

One fact about concepts expressed by words is that their
members can be graded in terms of their typicality.

S slae] of o clalsl) aladialy Lie paatl) aly Al asalial) Joa (@HBAY (ha
4l galll Willal o Uy ciiual o)) oSy g (S jidial),

A good example of this involves the concept BIRD.
itk 2 sgda dlld o ABY) (e

Even assuming that we all think of a bird as an animal that lays
eggs, has feather and can fly, we still feel that some of these
creatures are more birdlike than others.

ey g Gl ey g ) gl 3 Gl gaadl g ikl o lasen a1 e a8 1) Lo
S L) yilal) ] gad Apds cld glaall oda (e Llany (il Wl B 1 jsrd 0 W) <0l yulall
LR S (ha,

While the words canary, dove, duck, flamingo, parrot and robin

are all equally co-hyponyms of the superordinate bird, they are

not all considered to be equally good examples of the category
“bird.”

c(JﬁAM\Jﬂh) g il ‘Z\hg dalaa cngthwSQéJgﬁéﬁ\&ﬂ\uﬁgA
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According to some researchers, the most characteristic
instance of the category “bird” is robin. This idea is known as
the prototype.

53) Gl sita ga M il Cilal 3 juaal) dball e g &) ) (¢pfiall) (and Tl
432 gail) ALaY) Lgale 3llad 3 KAl oda ¢(slial),

The concept of a prototype helps explain the meaning of certain
words, like bird, not in terms of semantic features (e.g. “has
feathers,” “has wings”), but in terms of resemblance to the



Prototype is about mental representation of
meaning or categorization.

MMJ\U.M‘;\AJMJA @43.«3\ ¥,

Let’s define a bird: has feathers, grows from an
egg, can fly, makes sounds and so on.

shay (Ol pudal) AiSay (Al (pa gady oy Aol il i el Lis o

If | asked you now, if an ostrich or a penguin is
bird, chances are high that you would say yes,




hile they don’t fit the definition. And this is
here prototypes come into play.

il sl Jlatia¥) € jila 51 kel o) daladl) S 1o il ¢y
099 (A LA (g iy atl) pa lag D Y agdl a8 ) cardy Guain
sdall & o salll oY),

hat we are dealing with is a gradual

categorization of meaning within an instance of
representation.

Al 3 gl JA1S aall o il cilatl) ga dna (alati La

Gl B pdilia Sl ("L 4 ggda Al A8 G g 1) 18R
0% 8 Gad oA Gl e Yy Alalia Jea b,

That kind of door is, for you, the prototype of all

Ja¥) s &l Aol cAlalia Jga ea b ) ccld) (e £ 63 120



But not everybody is likely to have the same
prototype for a particular set.

It can be defined as the gradual mental representation
of meaning or categorization. what is it?



i

Among the following four kinds of tea, which one
is considered the most typical of the whole set?

Strawberry tea.
Morrocan tea.
White tea.

Red tea.

-~
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Referring Expression

1308 ) 5890 5 AlaY)

A referring expression is a noun phrase, that is
used in an utterance and is linked to something
outside language, some living or dead or

imaginary entity. That ‘something’ is the
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“Washington has three syllables, and 600,000

. Aacad Cill G005 Auliil aalia 3 Lgd (ali

The existence of areferring expression does not

guarantee the existence of a referent in the

physical-social world.

pllad) (B aa e 529 89 pally ry Y g e ) Adla) sl 392
ey sl

e can easily use language to create

expressions with fictitious referents such as
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the skyscrapers of Alahssa,
the river of Riyadh,

o2kl (8 el
the present King of the USA.

ISy aY) Bastall Y gl L8 sy ellal)

Primary referring expressions

flowers in that basket;

(they refer directly to their referents).




like he, the big ones, ours, that one.
4;\33\&3 cLblﬁ,i\giUﬁ;cJ,&\ﬂ\ ¢ 9 d:-'\A

These expressions are headed by pronouns and they refer
indirectly; their referents can only be determined from primary
referring expressions in the context in which they are used.
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Ad 2l A glamd) B,

T
Hit
>gS:

Which among these sentences involves
a secondary referring expression?

That one is pale

Referents differ from one another in 3 ways:

b A (35 s AY) (8 daa e JS




The referring expression "a lake" is considered:

C5 alSily adldl) 8 ) b

First, Unique and non-unique referents

5 Sl By g (Apa) 8Jaall) 5y 1) cilan sall 1Y ).

a) We swam in Lake Ontario.

ga )il g a8 Uiay

b) We swam in a lake.

294

s (A Laa

3

Both of the underlined noun phrases are

referring expressions. They might have the
same referent, but a lake can refer to various
bodies of water whereas Lake Ontario always




dan) i jladl e S (Lake Ontario) s (a lake) <
) o g sal) (udil i Lglaly aa jal Ala) (a lake) O ¢
O (R Adlide duile clabiuns ) il (Lake ontario) Ll

£

Fixed reference Lake Ontario, Japan, Barak
Obama, the Philippine Islands

25 gl il (bl ¢ g i gl B a1 e (i) an sl

Variable reference that dog, my uncle, several
people, a lake, the results.

The referring expression "my uncle" is considered:

non-unique referent

hastd Lada
uniquedss: » ¥Fixed -
unigueu«Variable -

|I

Fixed Reference - Inference



YN — el & !
N inference

For example, in a restaurant,
caadaal) A (JUal) Jaw Ao

one waiter can ask another, Where’s the
cucumber salad sitting?

¢ LAl dabe (ulay Cg\ A IV g gl ay ¢

Sy oAl Swagdil) o 5l LA o A 0 cabaa] J) s liey

And get the response, Sure, it’s on the shel
over there.

These examples make it clear that we can use

names associated with things (salad) to refer to
people, and use names of people (Chomsky) to
refer to things.




Ao o Upland aladiind W oSay 4d) audal 1) (pa Jaad M‘:..‘z\‘ b3A
alddia ¢Sy GusSal) gf (bl ) 3 LEST Adalud) Jia pLudY
AR o) B AN Sa gl Jia il slawl,

An inference is additional information to
connect between what is said and what must be

A waiter at a restaurant asked: "where’s the cucumber salad
sitting?",
"The cucumber salad" in this utterance is best interpreted as:

A customer

A waiter at a restaurant said: "The tuna sandwich left without
paying.",
"The tuna sandwich" in this utterance is best interpreted as:

A customer

It is understood as using names associated with things

to refer to people. What is it?

Inference.



Second, Concrete and abstract referents

)8 duiall Ak guunall) (o galall g 5 53mall cilima yall 1Ll

ords such as dog, door, leaf, stone denote
concrete objects, which can be seen or

Al o3 il Jia cclalllly L) Sl Al el ol cliilst)
Y Al Ay B e sludl gl ciliils Lgde gl 8 pall cquad)

the key to the front door



ba¥) Gl - idal)

I

he key to success

"My dad taught me that the key to success ..
Dnily pae i pudl dady
a concrete referent

a literal key
an abstract referent
a non figurative referent




Keyga sl (8 A Jgud) s 5ad o) il g

abstracts UaKey J gl g sala Jiag

lalinay 355 Y9 ¢« Figurativeds jay (sSi 83 awal) 3 il g

Literal 2l

Third, Countable and non-countable referents

Noun phrases in English are either countable or
non-countable.

Concrete countable expressions refer to items
that are separate from one another, like apples,
coins, pens and toothbrushes, which can




ordinarily be counted one by one.

Non-countable referents
Baginall & Cilima sall

Non-countable phrases, if their references are
concrete, have 3 kinds of reference:

£155) 3 Lgd 8 ¢ guuna a0 (IS () Baganall e i jlal);
Some refer to continuous substances, such as

apple sauce, ink, mud and toothpaste, which do
not consist of natural discrete parts.

U.Jd\ ¢_ysal) ccw\mducdm\ya\yui\ww
ilaiie daub o3l (e e85 Y Al g QUGN G sana,

numerous particles not worth counting, like
sand and rice.




o.\a\&‘iaJ.uSubJJ\uMWUJSuu.d\ G AY 3 gall sland g

A few non-countables are like furniture, jewelry,
luggage, collections whose parts have quite
different names.

c_\LGJm OsS (daiay) ‘JMJAS‘ Y Jia cagara uall e JulEN)

Abstract non-countables such as advice,
information, beauty, are treated in the English
language as indivisible.

l.g.a.a d.al.a.d\ ?"“ ‘JLAA cMJh.A c‘\;.um d.m 5 jaal) &l gana yurll

an apple, a coin, a pen, a toothbrush

some apples, some coins, some pens, some
toothbrushes

some apple sauce, some mud, some ink, some

The singular countable noun phrase must have

an overt specifier; the plural countable and non-
countable may have a zero specifier; the
specifier some can be replaced by zero in the




last two lines above.

&@ﬂ&ngiﬁhﬁgdﬂ\ BA_jdal) a5 L)
Cua gal) tCiiaga Ao Cpanaly Y 28 3 garall € g 3 ganall aand)
some (bl G phad) (A LaS g gal) (8 Sty puda gy 8,

Certain animals are named in countable phrases
but when considered as food the names appear
in non-countable phrases.

In contrast, there are animal names of
O sland dllia old (il o

Anglo-Saxon origin such as cow, calf, pig




glass, iron, paper,
a glass, an iron, a paper

hat is regarded as a substance, so non-
countable, may appear in a countable phrase to
indicate a certain quantity or type of the

Bagana Byl b ey 98 agima (9% Al Bala uay

arious soups
several cheeses




At the end countable/non-countable discussion,

They are nouns that name collections of items

furniture, jewelry, luggage—which are always
non-countable.

Bagia & (¢ o<i Laila cdaial)) (Al gad) iy

The specific items included in these collections
are indicated by countable nouns

(Aaial UMJA (&) u&M\dLuAmodpyw)am

chair, bed; necklace, ring; trunk, suitcase.
PETY-EN c@lﬁ)d}‘hﬁé 4351& B3 ¢ O ¢
In other instances there are matching nouns:

Ailaa pland iy 5 Al e b

rain and raindrop, snow and snowflake.




ea V) 9S8 Y ) ALE plaw dlla;

scissors, tweezers; trousers, shorts, jeans, etc.

JRET (uaad ¢ J) g uhg,ﬁm cuala |,

Scissors, tweezers; trousers, shorts, jeans are examples of nouns

that:
occur only as a plural

ery common words in our language that can’t

be interpreted at all if we don’t know the

physical context of the speaker.



it (0 al o) Tagl L el ey W AN LR B A i &

you, me, she, him, it, them.



AR ‘&Ld\ J..)ﬂ SR ad (R L JPPLAN

tomorrow and here are obvious examples of bits

of language that we can only understand in
terms of the speaker’s intended meaning.

Lgagd LiSay Al A1 4all) clid do daa) g ALia) 8 LA™ g "at"

i) sdealy A nal) o 3L

They are technically known as deictic



expressions, from the Greek word deixis, which
means “pointing” via language.

o Aiida Dejxis 4l oy pdlil) el ity G
ARl aladialy padldl) ad AN Ay 2Y)

We use deixis to point to :
J\) Q\M‘t’d\ eMDeixis) uj‘ 8 La:
things (it, this, these boxes) and people (him, them, those

students),
sometimes called personal deixis.

il g s,
Sia asdicd ¢ jt, this, these boxes
S aadiud Gl him, them, those students

Luaddl) o palal) Lgle sl Ul il uilil 028 g personal deixis.

#H#
el gl pLudl 3l a8 e uilal) o B s3
Words and phrases used to point to a location (here, there, near
that)
are examples of spatial deixis,
Jia ad) gall Judlill andind Le il pudlill o dlia o: here, there, near that
G l) AuilSa il pdll 1 sand 03 9)
and those used to point to a time (now, then, last week)
cidgll il aadius ¢ pualil oda g now, then, last week
are examples of temporal deixis

Aila 31l padlil) et 0da g,




All these deictic expressions have to be interpreted in terms of
which person, place or time the speaker has in mind.

e e Gl i el gl Qadlddl Cua Wy oy G Guag Ay JLAY) < jpail) o8 JS
cuaatiall (Al

We make a broad distinction between
O TS 1 bl aduad L)
what is marked as close to the speaker (this, here, now)
Jla cGaatiall oy B 4df e 43 L& W this, here, now
and what is distant (that, there, then).
Jie caay & Lag: that, there, then
We can also indicate whether movement is away
2all A Al (S 1) La dyas Lidagf LiiSay g
from the speaker’s location (go)
Jia euaaiall ¢lsa a1 gO
or toward the speaker’s location (come).
A< aladiia Jia cGaaiad) adga ) 238 43 gi: come

If you’re looking for someone and she appears, moving toward
you, you can say Here she comes!.

<) A W (Jgl o) liSa dlgatly el b g 81 ) < gl () Here she comes!

If, however, she is moving away from you in the distance, you’re
more likely to say There she goes!.

i AL (i o diSey dlic Banua 3] jal) cudia iy 0)g: There she goes!



The same deictic effect explains the different situations in which
you would tell someone to
Go to bed versus Come to bed.

O B L L A3 ¢ LeDIA (a iy (1) AR L) gall guda gy 5 il AL
AN () (ol o R )y

People can actually use deixis to have some fun. The coffee-
shop owner who puts up a big sign that reads Free Coffee
Tomorrow (to get you to return to the coffee-shop) can always
claim that you are just one day too early for the free drink.

G gl dlle Axial) (any o Jgaaall pudlil) ) gaddicy o agadly B ulill (e
(otial) ) B gall dladad et Ailaca § 58" Led 1A (o)) Al Clikay () B S Aa gl aulay
u\jeyiﬂﬂy’\&\3$&3&@@\ 33@33‘933&&*031&4435@_
One basic way of referring to something is to point to it. Every
language has deictic words which ‘point’ to ‘things’ in the
physical-social context of the speaker and addressee.

4 il clalS LAl 453 JS AQ) i) e 98 La ppd ) 8 LEBM L) (3 k) s
Gulalial) g Gaaatiall galal) elaia¥) Ghead) 8 cLEY) ) 5 LA andiad,

For example, if we should encounter a written or recorded
message like:

Jia Sansa ol Ly gisa L Uigal g 0 «JUal) Jpos Sl
| was disappointed that you didn’t come this afternoon.
Bagall oa clagad adey Ml i,
| hope you’ll join us tomorrow.
198 L) audali o g2,
we wouldn’t be able to identify the referents of I, you, us, this
afternoon or tomorrow; The meaning of any deictic elements
can only be interpreted through their contexts.

J claa jall Baa5 Uiy ¢4 || you , this afternoon, tomorrow

LBl e JiBh juady o) (S Ay il palie () (ra,



Only one sentence among the following has a spatial deixis,

which one:
ou can’t stay here.

astd LGRS e dgdla Ad) ay 13gh (368" JAS Adaal ) s sl

a4 5 LAYL qulll

English deictic words include




(2) Spatial deixis spatial deixis here and there,
hich designate space close to the speaker or

farther away; this/these and that/those, which

indicate entities close to or removed from the

Jia: now, then, yesterday, today, tomorrow, last
eek, next month




Only one sentence among the following has
a temporal deixis. Which one is it?
'mb
m busy now.

Words which can be deictic are not always so.

o~

OGS Y B g Ay L) (s B e

Today and tomorrow

They are deictic in “We can’t go today, but
tomorrow will be fine.”

: “We can’t Js 2 4 L) Today and tomorrow
go today, but tomorrow will be fine.”

They are not deictic in “Today’s costly
apartment buildings may be tomorrow’s slums.”

: “Today’s costly Jha 2 Gl L) o) el ¥ Lags
apartment buildings may be tomorrow’s slums.”

Similarly, here and there




here and therediall

They are deictic in “James hasn’t been here yet.
Is he there with you?”

: “James hasn’t J8a 4 ol L&) here and there

been here yet. Is he there with you?”

They are not deictic in “The children were
running here and there.”

: “The children were Jba (& ol L&) o st Y g
running here and there.”

The pronoun you

Is not deictic when used with the meaning ‘one;

any person or persons,’ as in “You can lead a

horse to water but you can’t make him drink.”

bac gl A g pgadd Aray alddiu) die g L) i Y you el
: “You can lead a horse to Jéall b Jad) Jia (aldld]
water but you can’t make him drink.”

e usually make a distinction between

introducing new referents (a puppy) and



referring back to them (the puppy, it).

dals S Ladic Slia Bayaa cilima pa agad (s Ulia) Jae
9 ,APUPPY 3858 L SY 6 4a Jg¥ (a puppy) XSl @b A
o JSA A3l Al) Uyl o B o2 jad) e digaall 3 gad Lasie

We saw a funny YouTube video about a boy washing a puppy in a small
bath.

The puppy started struggling and shaking and the boy got really wet.

When he let go, it jumped out of the bath and ran away.

In this type of referential relationship, the

second referring expression is an example of
anaphora (“referring back”).

Jlia ga (ALY (g pdlil) yuil) dma al) ABDat) Cha £ 50 130 B
) Aona sl 5 L) g sl )

The first mention is called the antecedent.

So, in our example, a boy, a puppy and a small

bath are antecedents

Js & @i a small bath sa puppy s a boy Wit




and The puppy, the boy, he, it and the bath are

anaphoric expressions.

lele 3tkithe bath sit s he sthe boy sThe puppy s

Jokit 1,55 i
Anaphora can be defined as subsequent

reference to an already introduced entity.

ad st ABaY 5 L) Adly ((adl) ) Sall) ) ) eBUYY iy el ¢

Mostly we use anaphora in texts to maintain

reference.

.BMJ@?QAUAM\@‘,BEH\JUSN?M&JGJ\GA

Jona ol

The connection between an antecedent and an
anaphoric expression is created by use of a
pronoun (it), or a phrase with the plus the

antecedent noun (the puppy), or another noun

that is related to the antecedent in some way

(The little dog ran out of the room).

Aol o da RN IS et Cyarg Gkl S e oyl

the Jia @l olsl) ) L calaaa 5 e aladiu) e it Janall
(o Ay gl gilead) LSIL Jasi ja AT and alidicl e slpuppy

: (The little dog ran out of the room).Ji




What among the following is a subsequent reference to
an already introduced entity?

Anaphora

It can be defined as subsequent reference to

an already introduced entity:

Anaphora
JA.A

o4
8) 5

is words tend to occur with other words.
Collocation




Collocation is words tend to occur with

Collocation examples:

blond + hair.

Fast car not quick car!

Fast food not quick food
Quick glance not fast glance.

Quick meal not fast meal.

All these examples represent correct collocation except for:

a quick car

LA

gM%Y‘dh&muéﬂuhﬁi\wd&\&

blond + hair.
Fast car not quick car!

Fast food not quick food



Quick glance not fast glance.

Quick meal not fast meal.

Lo syl g Apladl da Blia iy Al Lgda () dyaad dlia culhay g

What was Firth refering to by saying "You shall know a word by
the company it keeps"?

Collocation

3 A cilalsl) gy A (he Aalll) 48 jpa dlle ¢

Certain words tend to appear together or “keep company”,
this keeping company is what is called in semantics

A collocation is a pair or group of words that are
often used together.

L Bale addied CilalS 4o gana o 9 (A Aaladl) cila JDlial),



is a pair or group of words that are often used together.

A collocation

A collocation is a pair or group of words that are often used

ogether

e

It is defined as "a pair or group of words that are
often used together, such as, take a picture" what is it?

Collocation

Collocatoin combinations sound natural to
native speakers.

Ao alaiYU cfiaatial) ale 4 g jaa el dudall) cila Plial) Cile g

Collocatoin combinations sound natural to

native speakers

Fixed collocation, like:



[ take a photo ]

Bga AAL 1 fia Al ABa8N Cula DUl

no word other than take collocates with photo to
give the same meaning.

e Oila Plia (pialS 32 65 Y take photo (i 5338 O ¢

Open collocates.



Collocations examples:

You must make an effort and study for your

do an effortu«dsmake an effort

Did you watch TV last night?

look at TVudswatch TV

This car has a very powerful engine.

enginewspowerful engine

All these examples represent correct collocation, except:

Fast meal

s U S3 Le Jia AL 00 £ 53 120

T
All these eamples represent correct collocations except for:



a quick car

Sometimes, a pair of words may not be
absolutely wrong, and people will understand
hat is meant, but it may not be the natural,

normal collocation.

[ 1 did a few mistakes | vs. [ | made a few
mistakes ].

sala O pagdy (bl oY Lelad Und iy ¥ cilall) 7 g5 Liaa|
381 e Plia piintd ¢ b S gaui 4SS (Ada 3 gualal),

[ 1 did a few mistakes | vs. [ | made a few
mistakes ].

Did you look at TV last night?

Burgers and French fries are common fast

You must do an effort to study for the exam.

Aaaal) & LY saYou made a few mistakes.



¢ AN Coll s (o2 55 Apealall i) ¢

Lu & Ledle (maiCollocations A Adia) pay Adaluy

LS )
Why learn collocations?

Give you the most natural way to say something

L) gl Al &y ) ddon’ L4

[ Smoking is strictly forbidden ] is more natural

than [ Smoking is strongly forbidden ].




#

instead of repeating [ It was very cold and very

dark ], we can say [ It was bitterly cold and pitch

dark ] .

Improve your style in writing

At B oy ghdf ok

instead of saying [ poverty causes crime |,
can say [ poverty breeds crime | ;

instead of saying [ a big meal ] you can say [ a

substantial meal ].

Collocationa) dtial c pi o 4xijal) o3 A& L& aal

Smoking is strictly forbidden

It was bitterly cold and pitch dark
poverty breeds crime



a substantial meal

D o6 alkily daaldl) aga ) 2

Finding collocations

Cathy had promised to give her sister a call call as

Any good learner’s dictionary. For example,



Soss Ao (i alad (i gald gi@&l&éﬂ\ Gla Plial) alids) clisay g

a sharp difference/distinction..,

Learning collocations is not so different from
learning any vocabulary item.

Bajka sl alad o ) S Gl Y A4l cila JDlial)

There are many different types of collocations.

Alaal) e lial) e Adlida £ o) elllia



Adjectives and nouns
}LAM;Y‘J cldal)

Notice adjectives that are typically used with

particular nouns.

_ :U..p.a e Lad 2 dale PXENAWY gﬂ\ cildal) BaY

Jean always wears bright color.

We had a brief chat about the exams.

Unemployment is a major problem for the
government at the moment.

Nouns and verbs
JadY g elacdl)

The examples below are all to do with
economics and business.

Jlee YU alatBy) A8Me e duaats LIS pLiaj dtiaY

The economy boomed in the 1990s, [the

economy was very strong].



more people than last year.
The company has expanded and now has

branches in most major cities.

The two companies merged in 2003 and now

form one very large corporation.
Noun + noun (a... of...)

Sam read the lies about him, he felt a surge of

- asudden angry feeling].

Every parent feels a sense of pride when their

child does well or wins something.

erbs and expressions with prepositions.

| was filled with horror when | read the

newspaper report of the explosion.

When she spilt juice on her new skirt the little
girl burst into tears, [suddenly started crying).

Verbs and adverbs




i g lal) g Jld

Some verbs have particular adverbs which

regularly collocate with them.

L La Bale gl Lgd Jladdy)

She pulled steadily on the rope and helped him

to safety, [pulled firmly and evenl

He placed the beautiful vase gently on the
Indow shelf.

‘l love you and want to mar ou,’
Derek whispered softly to Marsha.

She smiled proudly as she looked at the photos
of her new grandson.

Adverbs and adjectives.

They are happily married.




[l know well]

Harry was blissfully unaware that he was in
danger.[Harry had no idea at all, often used
about something unpleasant]

Synonyms and confusable words.

| met an old friend the other day. It’s a very old

She studied ancient history. In ancient times,

life was very hard.

This shop sells antigue furniture. She

collects antiqgue jewelry, [old and valuable].
| helped an elderly person who was trying to

cross the road [elderly is more polite than old]

Other synonym pairs synonyms



A A8t e UiaS AU (5 AT cildy) yia ) gl

charge vs. load

Injure vs. damage

«

need to charge my phone. [used for electrical
items

—t+

They loaded the van/truck and drove away.

Three injured people were taken to hospital.

—
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The shop tried to sell me a damaged sofa.

In the south the farmers grow crops.

In the north the farmers mostly raise cattle.

9

Presupposition

L 4

JAA

O

ol



Presupposition

PN

When we use a referring expression like this, he or
Shakespeare, we usually assume that our listeners can
recognize which referent is

intended.

Jia B Uil el aadiad Latis (this, he or Shakespeare) oa i b sals Lillé
Aud) judd g oduall q;:ﬁ\ &AJAJ’ &) a) ?@—\SA.-!L\:W-A;MAUL)

In a more general way, we design our linguistic messages on

the basis of large-scale assumptions about what our listeners
already know.

L Jga aUaill dadl g cbidal 380 Gl o 4 ghll) Ulil; aanal Wb A gas ST A8y yhay
L) Crmalinal) 42 2y

Some of these assumptions may be mistaken, of course, but
mostly they’re appropriate.

A gfa 685 Lt ] oSt Jlal) dagday Aidald ¢ 685 08 Culidal 50N o3A (jany,

What a speaker assumes is true or known by a listener can be
described as a presupposition.

ol S8 Ade gtk Gy adiadl O gl gmaua Ad) diaatiall (b L,
If someone tells you [ Your brother is waiting outside |,
AN &l & 6a raaaal dal o),
there is an obvious presupposition that you have a brother.
&) Al Al il g il bl Sla o) (s B lad) oda
If you are asked [ Why did you arrive late? | ,

Al cla g 13l eutla &)



there is a presupposition that you did arrive late.
1Al culia g el ) 538 SUia |

And if you are asked the question [ When did you stop
smoking? |,

SOl oo gl e 1) sed) e ) g
there are at least two presuppositions involved.
gl 138 Lagiadaty cplaing ¢yl ) Slllia o8,

In asking this question, the speaker presupposes that you used
to smoke and that you no longer do so.

OY) CAN i ol il g (dnll) Jo cuie) dlily G il Gaatial) Gl (Jiged) 18 e

Questions like this, with built-in presuppositions, are very useful
devices for trial lawyers. If the defendant is asked by the

district attorney,

aiall i ) aSlaal) (ppalaal Baske il (b 4 iy 3 clial 01 e el e Jpen
Al 38 9 0 (s

[ Okay, Mr. Buckingham, how fast were you going when you ran
the red light? ] ,

$o) yaad) 3 LAY Cubadl Ledie dlic yu CuilS aS (alghiSy S ¢ Cpun

there is a presupposition that Mr. Buckingham did in fact run the
red light. If he simply answers the How fast part of the question,

by

giving a speed, he is behaving as if the presupposition is
correct.

aS" Ay Jisen Sad cilal of o) and) B LAY b ek algiiSy aaad) (il Gl 381 clllia
p3gd e ) pllae) yie clgm 358y OIS AN Mde )

Tna L2l 8 (S g ey ga Allad),



One of the TESTS used to check for the presuppositions
underlying sentences involves negating a sentence with a
particular

presupposition and checking if the presupposition remains true.

MAA@.\ ali Al Jaadl ¢ ,9 dalgl) ubab.\ﬁ‘i\u.adsaﬂe.\w u.\.“ <) LAY A
Laaaa J1 3 La gl 38 oS o) cpa 28U g e () 8L,

Whether you say [ My car is a wreck ] or the negative version [
My car is not a wreck ], the underlying presupposition (I have a
car)

remains true despite the fact that the two sentences have
opposite meanings.

Cralsd) uab.\ﬁ‘i\ c"elha LIV | u-'JLW"" 4.1&.\.43\ PO |] 3\ "alha @Jl.\u" - culd Ui ;\Jué
JA)JJMAUMLA@JM\)SJMUSJM\UMWUAA'MJM Ls.ﬁla\"

This is called the “constancy under negation” test for
identifying a presupposition. If someone says, | used to regret
marrying him,

but | don’t regret marrying him now, the presupposition (I
married him) remains constant even though the verb regret
changes from
affirmative to negative.

ol Y ca (G (pa AL cind AN LSA) AaY) oda o (3l

) Ada ) g3 Ao Adaal cud ASY e ) g3 Ao Aadl (8T o)) catie) roaaal clld )
A ) S e aail) Jad it o af ) e U By ada g T Gl ),

O el Jladi Jgla g W8 <5 pdalaal) dsilgy b S3a ALia] o2
D ghe md Al cl) jéyy
What is one obvious presupposition of a

speaker who says:
a) Your clock isn’t working.



b) Where did he find the money?

c) We regret buying that car.

d) The king of France is bald.

The following sentences make certain
presuppositions. What are they?
a) The police ordered the minors to stop

b) That her pet turtle ran away made Emily very

c) Even Fred passed.
d) Disa wants more popcorn.
I

e) Jill went into a nearby house.

Gl AL G g o Al ALY 7 00 Bl s (gl 3 dalaal)

il B @l LA pdalal) cpad gallly 5 pdalaalle L

What a speaker assumes is true or known
by a listener can be described as a:

Presupposition




What is one obvious presupposition of

a speaker who says: "Your sister is waiting outside"?

That you have a sister.

What is one obvious presupposition of
a speaker who says: "Your brother is waiting outside"?

That you have a brother.
it

What is one obvious presupposition of
a speaker who says: "I regret talking to Tom"?

That he talked to Tom.

What is one obvious presupposition of

a speaker who says:
"Majed renewed his subscription to sport magazine"?

That his subscription has expired.
i

What is one obvious presupposition of
a speaker who says: "We regret buying that car."?

That they bought that car.

Speech Acts



Jsil) Jadi
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There are different kinds of context:

-
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Linguistic context
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Physical context

—

Linguistic
context (i.e.,
co-text).

(el gl




The linguistic
ord is the se
of other words

used in

or sentence.

,”' & =
X3
' 3 =
[®) 5
L= X
- ["S
Gz - ; &
] 5|5 = i

S
Eﬂ.

Ez
e,
C %
E

surrounding
Co
strong effec

think the word

O 1

> D
go)
SACIENE
o D >
Q - Q —
=) = n =
< D~ D (9]

means.

{PY
®.
Y
£

g

5
3
&



m

E.g., bank as a




bank is used
In a sentence
ith words
like steep or
overgrown?
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context which
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Intended.
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The relevant
context is our
mental
representation

The relevant
context s our
mental
representation
aspects.

aspects.

Speech acts

£

—

J S8 Jlad

There are ways in which we interpret the

meaning of an utterance in terms of what the
speaker intended to convey.., to “interpret the
function of” what is said?

Maly La Ao Talais) aWSH) dra yedl LA (e U 0y (3 b @llia
O La Akl g ™ ) cCiaatal) Al gy o




In general, we recognize the type of “action”

performed by a speaker with the utterance, such
as “requesting,” “commanding

Jia DSl yie Gaaadiall o) ) Jadl) £ gd & jai Liild ale JSy
JRAY) Qladia) ¢ e ccallal)

e can define a speech act as the action
performed by a speaker with an utterance.

e i) g (e o igal) Jadl) Adf o J gl Jad iy s LS

D Q) Jas A

e ol) = dwdld) die Slia ¢ g8t
L 5 alSil addl) o )

Direct vs. indirect speech acts

Ll e S Jab il b i) J 581

e usually use certain syntactic structures.




Did you eat the pizza?
) ) cals) Ja

Structure = Interrogative

You ate the pizza.



il ule

p——

function of a question, it is described as a direct

speech act.

When we don’t know something and we ask
someone for the information. Can you ride a

 Cilaglaa (o andaf Jludg La o b i ad Y Ladic

eda) jal) 5aL8 Slicay A

Compare that utterance with Can you pass the




Here, we are not asking a question about
someone’s ability; we don’t use this structure
as a question at all. We use it to make a request.

"kt o g Wlieadiad gy sl J13ms (JSgd))

That is, we are using a syntactic structure

associated with the function of a question, but
in this case with the function of a request. This
Is an example of an indirect speech act.

23 (b L W) o) pmad) Aida 5 U o Ly gad SS addlia LMD 136A
L hlal) e Jall Jad £ gdf aaf 13 ccullal) Aids g aa Al

Whenever one of the structures is used to

perform a function other than the one listed
before, the result is an indirect speech act.

Al ye g AT dddi g e1aY (A1) JSbgdl sl Laadiad La

e e I Jab Lo 3 Aaill (b S sSial

The utterance You left the door open




e J5B Jad = () gea il

However, if you say this to someone who has
just come in and it’s really hot outside, you

would want that person to close the door.

AN B gallg Jalal ) il ) pedldd da b o) cllh aa g
bl a0 GadEl 13 (pe a5 Aad) oda 8 il aa

You are not using the imperative structure. You
are using a declarative structure to make a

a

JSgd) Crandiin) Al JY) (Aiall) JSagd) addind al el U

A visitor, carrying his luggage, looking lost,



stops someone

ehh\ G.ﬁj céb.'a Ad) 9w cduil8a Jaag ¢ ) )

A VISITOR: Excuse me. Do you know where the
Al-Bilad Hotel is?

Sl (3B Ay ol alad Ja ) she 1 0

PASSER-BY: Oh sure, | know where it is. (and

alks away)
).coaag al) ady ol ale Ul cadally of 1) ke

Here, the visitor uses (Do you know...?) a form

normally associated with a question, and the

passer-by answers that question literally (I

Josadl ale g ()l Adlata dipas Malad JA™ addial )3 La
. Gl alef U U8 (B A g A gl O 2 ) ged) il

direct speech act vs. indirect speech act

"l Jaad 5 Al Aad) B oS oM g sl
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Speech Act Theory (Book: How to Do Things

E.g., If a minster declares two people husband
and wife, they are now legally together in a way

that they were not before that utterance.

oY) \Haiﬁ:\e\gj\gae\gjaih.ﬂ\ caite | 3 cdlf\.d‘dﬁuu.‘ﬁ
i gt 08 LSy ) iy e 1538 S

Therefore, when someone says “I’m sorry”, it is

not only to state the fact that he or she feels

sorry but also to carry out the speech act of

apologizing.



o) A0l ddda Ja8h aaay Y J 681 138 A0 (i Ui aaaa) JB o) o)
L NXeY) J g Jab dudlaiy La Jub Lyl Jo il ady Ll

Austin distinguishes three different acts/forces
in any given speech act.

OB Jad ) (B s B ol Juadl e ) 5 DG gl
“Do you have a watch?”
ool clial Ja

The locutionary force: what is actually said: the

production of the words that make up the

LSRN € A clall) ZUE A g Slad 8 Le 488N 5 gAY

The illocutionary force: the intended meaning of

the utterance (asking for the time)

: Gbd) JU) (8) S48l &) 59 (pa 3 gaaliall daall 1A B8N 8§ gAY)
).cdgll e ) iguad)

The perlocutionary force: the effect achieved by

the utterance on the hearer. (the action created;

the listener looking at the watch and tell the

time)



el o Jaill e aalil) LAz shill e 4 yial) 3 g4

To interpret the intended meaning, the hearer

needs to consider the social context.

Failing to do that may lead the hearer to take out

his watch and show it to the speaker possibly
ondering why the speaker would want to see

his or her watch.

Wy g dielu g A O ) ainally gy a8 ellly ) B Jadl
Adela 4y Giaatal) &y g 13l Siluda daaais

The main reason we use indirect speech acts
seems to be that actions such as requests,
presented in an indirect way (Could you open
that door for me?), are generally considered to
e more gentle or more polite in our society

than direct speech acts (Open that door for me).




Could you open that door for me?

0t bl il ) et Ja

Open that door for me

Each of the following utterances contains a speech act except for
one.
Which one is it?

| bet you 50 Riyals he will not show up.

I'll meet you at 8:30 at the library.

I’'m sorry | said that to you.

| work at the new bank.

If someone asks you "Can you pass the salt and paper?"
While setting on the dining table, this utterance is often
interpreted as:




arequest.
Ul g8y g cliag 28 ) Geal) (pudll;

"Can you pass the salt and ketchup?"

Imagine that an old man stops you on street and asks you,
"Do you have a watch?" What is the illocutionary force in the scene:

The intended meaning he had.

e can think of politeness in general terms as

having to do with ideas like being tactful,
modest, and nice to other people.



Jia S8 ga alail) o ol ale Sy quigilly i) Ui
L A GalAEY) aa Cilalll g au) gil) (ABLY

In the study of linguistic politeness, the most

relevant concept is “face.”

" Al oa Ay dla JSY) a gedall <o sall) Cundgdll Au

,Aalad) ASIA) Ol g oA (el glailh) dilas ) ) gﬁ «lgay

This is the emotional and social sense of self

that everyone has and expects everyone else to

recognize.

Al JS adghg o p Al Al elaial) g Ablal) Jaal) sa 13
L O3 AY AS o

Politeness can be defined as showing
awareness and consideration of another
person’s face.

waddl) da ol eV g alaiay) jlgd) A o caudgal) Ciy i ¢

If you say something that represents a threat to



another person’s self-image, that is called a

face- threatening act.

13 (oaddil) A ASIN) 5 ) puall Taags Jiay Lind abaal culd o)

A 2agh Jad

For example, if you use a direct speech act to

get someone to do something (Give me that
file!), you are behaving as if you have more

social power than the other person.

Jaad apaaf A il e J g8 Jad andied i€ ¢ JUal) Joaw o
e laia) ddala elbad olif Ua gay o(lilal) dltd e 1 Jia) e g

If you don’t actually have that social power (e.g.

you’re not a military officer or prison warden),
then you are performing a face-threatening act.

o 1l 5l LS Unilia 65 (0lS) Slad Aaladl) el dllas (<5 ol )
LA Aagh Jad plaly o g5 Alad) oda B Clild (il

An indirect speech act, in the form associated
ith a question (Could you pass me that file?),

removes the assumption of social power.

Q) (3 el ¢ el JR) ) e Adasl o sy ¢ peibzal) @ J 581
‘ ) sled) gl ol b a3 Alad) oda (A il (cilal)




You’re only asking if it’s possible.

This makes your request less threatening to the

other person’s face.

C LAY Jaddl) da ¢ aags J81 atlal) Jaag 13a

Whenever you say something that lessens the
possible threat to another’s face, it can be

described as a faces saving act.

OS¢ AT pald) 4o o Jainal) g3l Sl Lo Ui B La
Aol Bia Jad dly jlie

Politeness is about respecting the face of

O3 A Aa g a ialy glaly cudedll




We have both a negative face and a positive

) Aol g ) Aa gl g gl e SIS L,

(Note that “negative” doesn’t mean “bad” here)

Negative face is the need to be independent and
free from imposition.

AN (e LA 5 Sl (6% oY dalal) ga bl Al



Positive face is the need to be connected, to
belong, to be a member of the group.

QeSO il 098 Y Slata (6% oY dalal) g gyl 4a sl
as ganall (14 Is 3o

So, a face-saving act that emphasizes a

08 e gidia i ol .

A face-saving act that emphasizes a person’s
positive face will show solidarity and draw
attention to a common goal.

G g adill la) da gl o ass AN Ag gl Jada Jlad

Let’s do this together...; You and | have the
same problem, so...).




Ideas about the appropriate language to mark
politeness differ substantially from one culture

and you use direct speech acts (Give me that
chair!) to people whose culture is more oriented
to indirectness and avoiding direct imposition,
then you will be considered impolite.

?.uu\gum ‘Juhd\@jYUJAY\MJ@ﬂM\ede

You, in turn, may think of the others as vague
and unsure of whether they really want
something or are just asking about it (Are you
using this chair?).

Q) (S (983 Y 38 Db ¢ gaty Cp AT SES 38 &) gy
e Jlaw Jadd 43 g Slad L g o &y g S,
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Imagine that you need to borrow your friends’
car.

car.

This kind of request will impose the negative
face of your friend.

iyl o) 451 Jidisnn lll) (e ) 12,

If you are not interested in being polite,

you may simply use a declarative sentence (I
need to borrow your car)

sl o zlial 1dag paill ddaad) aladi) dabug JSy ey

or imperative (Lend me your car).




Adlaly Al 1Y) &l e anii diSe; please

Jan il o) 10 ¢ MEY) aladiin SliSe 1 AS] quigl g

an indirect request (I was wondering if | could...
or Would you mind if I...),

alai a1 gl L., Ala S o) Jeldl ) rdia bl e athal)
1) .

or another marker of deference (I know that this

Understanding how successful communication

orks is actually a process of interpreting not
just what

speakers say, but what they “intend to mean.”

Ll Gl aeadl Ales i gl) & g pralill Jlad¥) Jary i agd

Exercises:



Someone stands between you and the TV set
you’re watching, so you decide to say one of the
following. Identify which would be direct or
indirect speech acts.

a) Move!
b) You’re in the way.

c) Could you please sit down?
d) Please get out of the way.

a person’s negative face

PRSI R R PaT

a person’s positive face

e L

In the field of linguistics, politeness is

mainly related to the concept of:



Only one of the following expressions
is considered a face-saving act. Which one is it?

(Negative face)

I’m sorry to bother you ...

| know you’re busy, but ...

(Positive face)




Let’s do this together ...

You and | have the same problem, so ...




A gl 1 i
This way will save you hours.
ol dile 355 g 48, 5hl) o8,
How do you spend time these days?
Tal) oda by ol i
You need to budget your time.
b g1 40 Jaa Jaas o ey,
| have invested a lot of time in this project.
£ ophall 13a B Bl (pa S U el S1,
He’s living on borrowed time.
pilal) cdgl) & ey A),
What is the basis for this metaphor?
05 _jlaiud) oda & Lulud) La
There is no similarity between time and money.
Jlally i gl) Ch dpd A g clllid (.

What brings these concepts together is the perception that time
is like a valuable commodity that can be gained or lost.

S LS (o (A Abaall) adead) Jia cdgll ol AicY) g8 Taa (e ggdall Guda pan )
PYCEY

Conceptual Metaphor

dradliall 3 ety



(refers to the understanding of one idea in terms

UJD;UQLASJQ?@&\M(Z\*AM‘J\ 4

s A B S8 agd,

Examples from George Lakoff and Mark
Johnson’s book “Metaphors We Live By” (1980

-

il S et ¢ g g & jlag oSy 7 e QUS (pa Alia] oL
&

O 58 chga s AR A

e plial) (Say ¥ clifele )

He attacked every weak point in my argument.

His criticisms were right on target.

hually Cisgl) o cuils 43)als),

I’'ve never won an argument with him.



He shot down all of my arguments.

(el s Jad) a8,

The conceptual metaphor

(2) TIME IS MONEY:
Jua i gl

We spend time or save it;

e invest time,

-”»

budget time

and sometimes run out of time;

e can borrow time, or spare it.

b A ) <8 gl B et LiiCay,




You may not consciously think of ideas as

ULl Jia S8 o o g0 ST of SliCay Y

*

i Lgay

and hope that they come to fruition.

A5 ol Ja¥l g




Involves the use of words that are primarily associated with
spatial orientation to talk about physical and psychological
states.

Eyanll lSal) da gl g J 5V albally Jadi 5 ) ClalS) aladiod Caals A0Sl 3 aiud)
Lol g Aydaad) e oo

T
happy is up
ALY By " o slad¥l Leal) sl Satad) el Sla;
I’'m feeling up
e g52) shly ad)
that boosted my spirits
(i sina ad ) el
my spirits rose
Cadli ) (AL gina
You’re in high spirits
dadi ja il giray i)
that gave me a lift
Abgine b)) AoV dady e dlld)
Hitt
Sad is down
Sl slaiWl Ll Jldy (y3ad) s
I’'m feeling down

LlaYl el adl sina) bgaga adl)



he fell in a depression
4l 8 i
her spirits sank
(B3 4ty sina
he’s feeling low
blayl) bsdl ads)
the depths of depression
L) glasi
i
health and life are up
o ol Lt Ly Sl g dawal) s
He’s at the peak of health
daall dd Lo
She rose from the dead
G gall e Candl )
He’s in top shape
dadli yo Al & 4)
Hitt
sickness and death are down
Jiad ola¥ly Lagd Ly igall g G sl
He’s sinking fast

A g (3 sy A



An idiom is an expression whose meaning
cannot be derived directly from the string of
ords that make up the expression.

(0o B i o gay () olinal (S ¥ il (A AadldaaY) B )
A ) bS] Juaded DA,

For example, if something is a piece of cake, it
Is easy to do.




a4 i 13gh €A (e dadad™ La Lindi (S () Sl Jaen o

If an idea is completely off the wall, you may not
be able to make heads or tails of it.

0493, B AT (Say ¥ Ad) (ay 13 ¢ laad) 7 A La B 88 il )
Lgia J s,

Whether you hit books or hit the sack, you
aren’t actually physically hitting anything.

q;\uﬂalgéhﬁalﬂcw:\smﬂj\h\isuﬂ&\ &) g g
ﬁg-d‘.
Your hands are not physically involved in

lending someone a hand (Joke: what if the
person did not return it?)

Iy a2 aaf Bale) Lala Craals al &l

LT

Celd) (adil) Gl Lyany al ol 13La 14a 3a

kick the bucket: to die
i say 1 s S

fly off the handle: to lose one’s tempe




Blalia of 1 ) 1ol saldl) ¢

red hearing: to introduce irrelevant arguments

&MﬂUMﬁﬂsYcﬂ&ﬁm : saal

Although an idiom is semantically like a single
word, it does not function like one. Thus, we will
not have a past tense * kick the bucketed.
Instead, it functions to some degree as a normal
sequence of grammatical words, so that the
past tense is form is kicked the bucketed.

AalsS gay AVl Aalill cpe adaa¥) 3 jladl o)) (e a8 11 Ao
Bas) g dalSS Aas of) Aalil) (e S ¥ o WY Basl g,

Cr palall 8 1A
kick the bucket

kick the bucketed

cilalsll adal) Judodil) e Le aa ) Jeast Lgild (dlld o L ge g

kick the bucket
oY

kicked the bucketed




But there are other grammatical restrictions

s AY) &y sadl) 2580

But there are other grammatical restrictions.

A large number of idioms contain a verb and
noun, but although the verb may be placed in

e have spilled the beans, but not *spilled the
bean

Jsii e beans Js8 oSa ¥ oS bean

058 O Juall g caan Lgad ela ac) (Y (Adhld AL oliaf ALiaY)
384

*fly of the handles
*kick the buckets
*put on good faces



*blow one’s tops

idiom vs. Metaphor
B_laiuy) Jilia A LadUaal) 5 jlall

idiom vs. Metaphor

An idiom is an expression where the meaning is
not immediately apparent from a literal
interpretation of the words.

A metaphor is a comparison made between A
and B, where you say A actually is B, even
h that’s not literall

o Ay e il ) gl Latic Adg g ] o AR o B jlaia)

Determine the only spatial metaphor among
the following:

is an expression whose meaning can not
be derived directly from the string of words that make up
that expression.




Which among the following in considered

a well-written idiom?

Which of these sentences contains an idiom.

Which one is it?




If | ask you:
Would you like to go to a movie tonight?

SN AL ) ) ag5 Ja st o)

and you responded:
| have to study for an exam,

DL A jal) Ao s cual g

| know that you are declining my invitation even though there is
nothing in the literal meaning of the sentence that says no.

i e Jay L gl b al) aall B sy Y Al a ) igea cudad ) 8 lily alef U U
Y B

As speakers of alanguage, we are able to draw inferences about
what is meant but not actually said.

Wy al o s 3 gualal) ga Le Joa cilalifin) Gadiddiu) o 3 abl) Wl da dall opfiaatiag
sl .

Information that is conveyed in that way is implicature.
Aad Cilal jhia) Airada cila glea A A8y jhal) 03¢ LglBLE o 1) Cila glaal))

The general overarching guideline for conversational
interactions is often called the co-operative principle.

il faall Lde (allay La LllE Apadl) cdle il alal) Jaldd) (goa sl fasall,
The co-operation principle
Ay glacl) Jasa
The co-operation principle:
A glal) asa

Make your contribution appropriate to the



conversation.
J‘JA-“ Al dliaalca )

Supporting this principle are four maxims, often
called the “Gricean maxims.”

G 2 Sl 5 e La Bale () 5 Any ) faall ‘3599,

Quantity, Quality, Relation, and Manner.

slad) ol Jaadl) ABMall (Bagad) (Apast) 1 A cul g c3A
The Quantity maxim:

Make your contribution as informative as is
required, but not more, or less, than is required.

doasl) ol

UAJQ\YJJAS‘YMAN‘JMUJ&MMGA@M\JMM

The Quality maxim:

Do not say that which you believe to be false or
for which you lack adequate evidence.

il A8l AaY B0 La o) dlS 4] aities La J&5 Y,

The Relation maxim: Be relevant.



ABMat) cull:
&,\3).4\9:\359 LR PV IUA Gesa

The Manner maxim:

Be clear, brief and orderly.




The book cover is sort of yellow.
A (e g g8 qligl) b
These are examples of hedges on the Quality maxim.
Bagal) culi Lady Lagh cilla gaiil) (e £1 630 22,
Other examples would include the expressions that people
sometimes put at the beginning of their conversational

contributions.

Ay ) oad) agilalgad Ay LB Bale (i) Lgaddiiey LAl ol ppaail) fpaua®s a8 o AY) ALiaY)
e « 2 ¢ 2

As far as | know ...,
Now, correct me if I’'m wrong, but ...
O8 LhlA i€ of (A masag oY)
I’m not absolutely sure, but ...
oS bt astia cuad
Hence the difference between saying

A8 O Al BaY g

Jackson is guilty
il ¢ guusla
and | think it’s possible that Jackson may be guilty.
ile 098 f Jainall (e G guSla Al alie ],

In the first version, we will be assumed to have very good
evidence for the statement. (the Maxim of Quality)



Flouting or Violating the Maxims
cal il gl g &) 3eiuady)

The Maxim of Quantity:
Al el

A. How do | look?
B. Your shoes are nice.

Speaker A here would understand that the whole appearance is
not that appealing which made speaker B comment only on a

small part of it.

£ o hdd gl o uaatiall Jea oA e Lida G 0 jgdia JS ) agdo Lia § Gaaatial)
o e (10 s,

Another example is when someone asks
adaal Jly Ladie AT Jlia
Have you finished your homework and cleaned your room?
oulid 2 il g dlaa g gl Ja
and the reply is | have finished my homework.
s Cugdl i Ay A,
#it
The Maxim of Quality

requires that the statements used in a conversation have some
factual basis.




235 bl L ) sad) B daddiieeal) g jlaill ¢ €5 Gl p b 3 gad)

If we are in middle of the summer in Riyadh, for example, and |
ask

Gl g (Jlall San Ao by ) A Cisal) g A US ):
What’s the weather like today?
fasadl sl o4 s
And someone responds It’s snowing as usual,
(alalls zlii L) zanaaf JBg

| would know that the statement is not intended to be true but
perhaps irony or sarcasm.

o) Al sl Jy (Llla 68 of Ada 3 gualall Gl g el 138 0 e ¢ gSla
pSe.

HitH
The Maxim of Relation:
Jag) 1) g cABMal) el

Failure to respect the maxim of relation creates an odd effect.

1L Tl gl ABad) s a6 Q)

For example, if someone asks you
adaaf dilu ) (JUal) o Ao
Have you finished your homework yet?
felal g cugdl Ja
and you responded It’s being raining a lot lately, hasn’t it?
SIS adl (g JAY A5 ) Ja haal Lgd) sl

You violated the Maxim of Relation by not responding in a




relevant way.

Adle )l A8y yhay el adey A8l culh cagal) i,

But by giving this response, you signal that you want to change
the topic of conversation.

Jsal) g gdasa S 8 A Y pd e e 13 i)
#Hit#
The Maxim of Manner
Qo) gl Jaall) culd
In the following exchange, B flouts the maxim of manner,
thereby implying that an open discussion of the ice cream is
not
desired:
Golal) o) Jaaldl) il (g 5gten @ oA i gall
Q98 s a8 Gz gilal) AR b (padal (A8 1Al g;
A: Let’s get the kids something.
B: Okay, but | veto |I-C-E C-R-E-A-M-S.
Uik Lind 34U Ue o 1

o ol o S L Ggpal o G

Which maxim does this speaker seem to be
particularly careful about?

| may be mistaken, but | thought | saw a
edding ring on his finger.




a) The Quantity maxim.

c) The Relation maxim.
d) The Manner maxim.




